Fundamental of Math

Week 3
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In which quadrant, if any are the points:

(-4,5), (5,5, (2,4), (-2,-5) and (-5,0) located?
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(1) Choose x.
(2) Compute y.

(3) Form the pair (x, y).
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Y intercept:
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Graph 3y+ 5x= 0 and identify the y-intercept
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The world population, in billions, is estimated and projected by:
y=0.072x + 4.593

Where x is the number of years since 1980.

a-Determine the world population in 1980, in 2005, and in 2030 , then
Graph.
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y = 0.072(0) + 4.593 = 0 + 4.593 = 4.593;
y = 0.072(25) + 4.593 = 1.8 + 4.593 = 6.393;
y = 0.072(50) + 4.593 = 3.6 + 4.593 = 8.193.
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Intercepts:

Y intercept is (0,b)
X intercept is ( b,0)
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Find the intercepts of a linear equation and graph using the

intercept: 4x + 3y = 12.
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Graph the line containing the points (-4,3) and (2,-6) and find the

slop?
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For any real number a and any integers m and n,
(CI !’}’l)ﬂ. = a mn

(To raise a power to a power, multiply the exponents.)
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Solve and Check the following equation for x :
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Find the intercepts and slope of the following equation:
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To find the slope: (0,10), (5,0)
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